Grammar Homerwork 5-2 Name: Section: Score: /10

Please print the PDF version of this page first (not this page!) and fill in your answers by hand. Regular class: Submit the hardcopy in class. Online class: Upload the scanned
homework file(s) to T-Square. Follow the instruction on naming files in the syllabus.

A. Fill in the blanks with the Japanese words for the following. (0.3 x 8 = 2.4)

1 newspaper 5. stadium

2 bank 6 department store
3. station 7. hospital

4 convenience store 8 near

B. Choose the appropriate continuation of the conversation below. Think of the meanings of Q-A pairs. Try it in English
first.

1. What is that building? a. It is that large building.
2. Which one is the library? |b. It is a library.
The answeris: 1-b, 2 - a.
Now try it in Japanese. (0.1 x 10 = 1.0)
Lo |3 e =l IS WETh, — a. WVNZ AIASAD WET,
T RNEANE A E =T WET D, - b. VWNZ, = E=ITIE WER AL
2. | REUTAHIEZTTD, —_ a. AZTT ADHZTI,
EZIZ OZOEFAN WETD, = b. X ZDELRVIZ HVET,
8. | ZFDA~RIT MU HVET D, — a. LIRVD~RIZ HVET,
MUIZ EZIZ HVETH, > b. WWZ | MU HVFERE A,
4. | ZOTHDIEL AT, - a. BCXIHVATT,
END AIAZSAD 3525 T h, = b. LZHD 5DV THD T,
5 | 2T XyRM HVET D, —_ a. WNZ | ERDD AR HVET,
RyRE EZIT HVET D, = b. VWX SEAD HVET,

C. Read the following conversations and choose the most appropriate words. (0.2 x 15 = 3)

A X19(D /) E)LASAIE, (EZ/ E/ ED) TTn?
AR ORKR(D /b E)IZ(T /T /) P)BVET L,
F A . Erby AIAZMT(EZIT / ERT/ ED) WETD,
7272 X FATBVET/ WET/ T L,

2. A THETA, ZOEALE(T /IT/ M), are=ix

(BVFEFEA / WEREA / LR TT) A,

B: ZOEALIITIE, (BVETA / WEEA / T2 TT) 4,
A: ZHTTh, U, EATIE?
B: AT, 2ZDLIONC (BVET / WET / T &,

3. |7Ivy |T=TNAD (O ) HRED)RIIHR(BVET / WET / TT)
72720 FE(D /B E)BVET,
7Ty |, FED (FXIT /EZT /B 7RI HOETH)?
oA VI7 (DB E)VBYET,

D. Look at the view of a town below and fill in the blanks to complete the conversation. (You are standing at the spot
marked by an "X" at the lower right.) (0.5 x6 = 3)




LA FAIHT LT BET,

B: 5 /3—h .
2. A Z2EIE OXOWVAD ONZDTT D,

B: o
3. |A: OZ9H A blimp) 1X BrHNADIZTI D,

B: . T,
4 |A: 2 &ZD IZ LAVKDEN

B: W2 HNDDINET,
5 | A: 29X AT OEDWNET D,

B: N
6. |A: ELIDAIT 2Z2D ZTHBETTD,

B: Wz, o

E. Match the answers with the questions based on the map above. (0.1 x 6 = 0.6)

L | ORIV AD HLAITIE R HVET, —

a. WNZ LAWVKDEN WNWET,

2. | ABDTNT EIT BVETH, -

b. WEHIVAD HETT,

3. | TIOVAD HEZRATT ), >

c. VDWNZ ., ZEDTZHINDIZ WET,

4 | ZETEZTTD, >

d. AZTT LD HUET,

5 | CXOWVADIZIZ HIPVKDEDN WETh, —_

e. REOIWVAD HILAIZ HVET,

6. | TALRIT AZDILOENDIZ WETH, —___

f. Z&ETT,




